PINHDN

Y =Xb+u

Yl = ankbkxl + Unx1

Y = b1+ b2X2i + b3X3i + ...+ bkxki + Uj

ee = (Y — Xb)'(Y — Xb)

=YY -bXY
= yy-bxy
e=MY M =1-X(X'X)1X'
tracq AB) = tracqBA)
AX =1 ox b -5 .n.nxxn AY
b =(X'X)1XY V(b) =s 2(X'X)1
kx1
b =xx)1xy V(b) =s2(xx)1
(k=D)x1
- e'e
s2=%= n-k
cb-(CBlno th-k Ho:cb = A
\ S2c (X' X)1c
v 2% '(x'X)-1 L
Yitn_k%\/s XgOXX) Xy Xo = (X X, )
v 2 "(x'X)-1 L
Yitn_k%\/s L+ X (XX) X)) X0 = (X X, )

RRIk-D ¢
@A-R2)/(n—k) otk

NTT2 NMYWNd [Nan

712V Y NONINY 310 NiN

712y Y N'TNNY N0 NN

N'01AN NIPNAINY [Nan



(Rb-r)[R(X'X)IR]X(Rb-r)/m
ee/(n - k)

~Fmn_k Ho:Ry by 1="m1 N22N Mywn |nan

RES UNRES
(e'e—e'e)/m

UNRES ~ Fmn-k

e'e/(n-k)

nR’ ~ c¢Z_, 0w nipnamy LM nan

RES UNRES/
Qe-2 & )m_ F :(N%23m n'0AN '9%) WALD |nan

UNRES m, n—-k-1
> e /(n -k -1
UNRES RES
2 2
(UNRRES Re)/m S 120 NN ININ W' UNRES 51 RES-) DNI

1- Re)/(n-k-1)
Y220 XD N'D1A12 DM120NN DINWNN 190N NIN K - Hg -2 NINNXNN 19010 XIn m TWND

LM |n1n
nR? > cfa DN Hy D'ima n™a :n'on nipnamy
.e=4g,...,§, NN 02WNNI (DN'TY72) DXNIXNN DTINN DX DN :D'NTpN M NIPRAIND

.nRg > C%,a DN H0 o'nITa n"Ma. Rez ,J2000 DTpNn NN D'2WNNI DNWAN DI '92 € NN D'XN

:[3PINNN 120NN DTN

g2 _q 2/ -k-1)
> ¥ /(-1
R2=1-(-R) "1
mT INWN
Y=a+dD+bX +u 7291 301NN NENYR
Y=a+bX+dD-X +u 7291 VI9'wN NINWN
Y=a+dD+bX+d,D-X +u V191 JNINN NENYR
Y =a +d,D, +d,D, +d;D,-D, + u DN W NNXPRIDINDL T NN W DY 9T




:D'PTA DY NIXIAP MY IN NIDIPN MY 112V DI0N90 NI CHOW |nan

(aZ”ez - (pegdle2 + periZOdZeZ))/(k +1)

period1 period 2 - |:k+l, n-2(k+1)

(X e+ Y e)/(n-2k+1)

Y=a+b, X, +b,X,+ b, X, +...+U YTNMINIMRIIIP'OIIMN HW N1 1T 01NN
: X,-1 X, D'Inenn ol
nmxoH, b, =0 mywan 1o

nnm x> Hy b, =0 mywn

nnmp Hy:b,=b,=0 nmwn

ri, > R 1, :2nm

V() =s2 NI'0T0DTPONLN

White [nan
: DY1°201 3 0y 57N 2y CROSS nyNaIND oy WHITE nran
& = 9o + Xy + 02Xy + 03Xz + 94Xf + 95X22i + 96X§ + 07Xy, Xo +0gXy X3 +0oXp X3

viapn D'anNwNn D'INYNN 'ian NIAYIXN NIYDINN
Ho G =0, =..=0, =0 nR? ~ ¢2
GLS 1IN
Y=Xb+u
E(u)=0
E(uu’) =s %Q
E(X'u)=0

bos = (X'QIX) X' Q7YY
V(bgs) = (X'Q'X) ™




